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Section C : Applied Grammar
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Section D : Reading Comprehension
t  

' *

t77{TT:

Instructions:

(i) rrfuqw# fK:wrsft t
Fs yFr-w I an @ve d t
This question paper hasfour sections.

(ii) y&i vleq qfuW rnrrftr qq@ wrt *atr ffi t
yd6 @T€ + erc y6 6l w6 w nq t M alrl t
Tlte answers to each section must be written at one place.

(iir) Y?qq@rywwTgqtq qqwtqMqT I

yrt-w * agun xw-a@T qqw fr M *ft t
Write the question number according to the question paper.

(iv) sdqi W wtTftr (@l fisqffi 1

sfivfi+nriqdlfu@r
Answer all the questions in Sanskrit
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Eu€: 
'6' 

lsection A)

s{qftdivr - erqldemq ( grqfrm - offdr{ )
Unseen Reading Comprehension "" 15 -3fS'T:

r. gT?itTfudq srrg--*i qFr yedsrfi{Wt{ 3t(t :

ffifu 3U-nE e] ra*.r frq'rq v{+t + Etr{ {iqd it ftrfuq'

Read the following passage and answer the given questions in Sanskrit :

eilfu(qrft4-or enfrqr qdnEr qr ffiift), vE T{ri vfr q€sfrl 3fl|t 3T}h

dFr{T: erfr e+rrtl dl-€TT: qn{r{Eq* 3i-fr+sq:rrdRl E[FI-{T: eTR qmq

E{qr 9-5g-r, r1qfrl EF1{t: gq1g sqft 3[rff{l o{l-€tT: qq1g 31g' 3qffi1

Eil;KI: ffi 31q: 3{Trl-er sqffir {q Eqil Ercil: qfret, rtqRl qffi, {6 ?

dftrfl g-aRf dFrrl: q-flra-{ rTr+q erqrr-ERl t qldmi qft} epnu

3+s-fi.sr' SdRl qe frrftri{r 3ilTeq ffil r€HT: el;KT: q{r13n{.({

qf,Hi Tt sETfr faTqR I qA frrft4-sr 'ftTfi re1KR, nQr{T: q r1ffi 1

r$tl:

I. \rsqt{ str{d I I x2:2

qfiq|-qifstr{Fqq t

Answer in one word.

(D qrfuorffiignwoft?
(iD E[FR[: qrgHiFASTfrffiZ

II. Wffi{*lfd I 2x2:4

rylerwils.n{Re r
Answer in a comPlete sentence.

(r) 4FK[: t[-r{.${dr ${i{T: qqR?

(ii) €{firfu€rftqrfr? q

352lr lP.T.O.



m. Yeffiffirq:gkf,{3f,ifudrfrgd 
' '/'x4--2

frq'rqt+*eitq q 3fu4 sn{ 3Tm{ frfuq

choose and write the appropriate answer from the given options :

; ." (i) 4l€[I: (i1) 41rI{T:

(ii1) serfr (rv) qdt

(u) '!FEI q'r ffii fr*' {6 sflrt Yfr 'r-Tfr' gfr ffi 
'q1'

fuoc4mql \
(D qFrrrq (ii) dlE[t4:

(iiD qrftildFr+ "(19 qrRtq' I

('r) *ii'-qd' Efr q-dws ffi fr rymqi
(i) 3n-q-{

(iii) rrqR

i\TqR
ffit

(ir)

(iv)

(q) 31FAt'*i'r qfr tilSfrqEsgffi{

(D qfiE (i1) 3dEr:

iutl 3qft (iv) sTrrfs t

w. erw w5=t<wFAqgFd{n+i{qtqfuoa t

Fq 3rda& * frqsqTn {ndm {iqn n frfuq I

Write the appropriate title for this passage in Sanskrit'

z. erdrfrfud @ qftldr redqr+r{{q,aq sntn :

fiF{fufud wl6 q} 116r frq'rqwi} * stt {i-q-'d i frFsrq :

Read the follow \ng shlokaand answer the given questions in sanskrit :

'tafr1q freaR 
"TttF 

a qfrqg' I

afrgwwfrftRsffiEd{'n'tt'
gFtt:

I. q"qtq sfl(fr |

qs{rqistr{Re t
Answer in one word'

scrnqqlfrftqR?

,r

452lr



l
;
' II' ' T'fdr*{ 3-{{d I

Wlqlwiiwrdtsrq I
Answer in a complete sentence.

(i) *lqtFr*, qfrcaR?

tiil gwsft6sgd+qYfurRi

m.
frq rrq ft+eit it t Bfud stt ETm{ ftfu :

i '

Choose and write the appropriate answer from the given options :

(m) {*t'qftxiq' Fss m wffi rytrq?
(D T+{q'
(iD Tu}q

(iit) o.ffirt

(s) {d*'{ws' qfr ffiwmffi tf, ffiwwd xgffiq?

( D g d

(ii) flT:
(iii) ft-asr

€n3: 
'€' 

lsection B)

(rrtrcr*.w,td)
Writing Skills 15 erg{:

3. 
'ff'vfrfrfudqenel: qirs{qrrqfffl?rflr1{fudTg: frwa : v,x10:5
'frd' 6} ft1Q'rq ffifun q{ s} fu fr ftq {q {rql fi utrqm i Wi *l
g+: frfuq:

Cornplete the following letter written to a friend with the help of the

words gven in the box and rewrite the same : 
E

lx2:2
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(D----- l

(ii) -----i

;' '' 

(iv) (v) -- 'c -
Ta ,"dr{ --------\:-'-Z------i Tqq .-------\:l----_.,r**.{ s*frq. H.l efifiq-

(rri\ -giD --_
{n6 q€ fr}, -----9y------,tqifirg{rshi qfrrqrpr ry'tr o-(

el-trd u-rqar*r dfi: ---------0i19--- -- ks nkrs qtwf quti qfisrfrr

( ix) - \- ^... ,F.,_: ----------:i-----sTfr m grq{q{q rfifqfr t
3TT{TRT srrr \r'r vr:

sf,6 5q, afuqlft | q{q' qTI qETWRI' 1 errai {fiEj firf,Ff: I

rltff,, frH{,
(x)

3iTsr: yEii fuj E{qT {qq|qT v{ftTq|rr

fuqd:

*i ftq'rq frx qr quir qqn fr ftR'rq vr<} fi vsrqcr t qfu gsfa qtflT

ir q'rrqq :

Describethefollowingpictureinfivesanskritsentenceswiththehelpof

the words given in the box below t t

sdFkrn qaqrflrfr {iqt;t
2x5:10
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l =

srer€n (oR)

.I€TaqFlqfufuiifrqqq3{tsI-fflq5{iqdq[dgwq
{5wrs{a{rqHr q

3E-+i ftTgd : 
2x5:lo

q.qqr it ftq q{rdt fi q-arqm a qqRfud frqq q{ tr {q-d qrnt ii

q*w@<frtuq:

write a para$aph in five Sanskrit sentences on the following topic with

the help of the words given in the box :

. 
"5516;4-1d:"

Tqqr

'A\l I

l / z
/s

-\\t

=:=:

sflHqr 3dtlE6T{T:, qqun'Qia sTT:, grfu*'t:' qfuf,[:'

$w{q, qttl,, elu:, ffi, q[ER, trqR' qR'

6-4i4, !T({T:, oTR, T€[T:, d, d, 5€lE{T: I

qqR, ffi, tnqR, {qR, rl."dR' d{R'

ffi., SIT:r EIT[:, Q-lt[:, dTFIT:, 4:{-dfl, $FI:'

{fr6{,,3Tq\, qrilS, qfr<+', fi{l' I

52lr
lP.T.O.



Elug: 
':I' (Section C)

@(3r5ryffiqrfi{ur)
APPlied Grammar 

30 e{SiT:

ertirkffig\grffi5ffiqftra-eEqrEdrfus( 
' 1x4--4

#rt;#fi ,*d{qtit q*r us'rq@rffi<6{h frtuq', 
_ ̂ -

Writetheunderlinedwordsofthefollowingsentencesafterjoiningor

disjoining Sandhis .^.

(1) qft*e{fr €: 4l€T: denfr q' g<{ tnqfr t

(i1) $! {rfrF }rfrd qrcqt{ qs'quR"u

(iii) gfirx'gHqfrtrqtr

(tt) T'rl€{Rl

g{?ifrfutseragturear<ntqqRifuqrgq-dffiq:Hatfrqa:tx5:5
Fiqfrfud *6i; i=ifu. *it * *** 3{eFrI faffi ftN' 'rq tr{-eit ii t

q frfuq 
---^^"-'{ort .'. exoounded forms of the

Choose and write the correct compounded or expc

underlined words in the following sentences :

(o) qrnfrdqtrffit

itl ql-g' frg' a

(iil) qrflqfirme

(s) <t triqdq: s{: 3drrl--efr1

(1) <fl?I{q

(iil) q{er{q

(rr\ fiiletnqtfumr trqfrt
\ ' /  e

(i) trd glrq
(iil) *iSui{qIqI

(q) fi{Ft'ryqqqrE'T-3frt
(1) 3rdrytq
(iil) sq{r{

(i1) qrdnffie

(iv) ffi'ffi'q1

(i1) (fl?;FT:

(t") (frtl.{ql

(it *iS*ilqs'
(tt) frdq4qql

"F

(it) eilfft:

(1v) !frTrql

8
52lr



(e) aqgfu! gwfrq3n 3fiFll
(i) fudsqfr (ii) kdsrnq-(
(iii) fr)urqR-d{ (i") fuds QtPffi: | *

7. 3Ttll]ETlffiqrflS {GIil-trFrql;IT ryla-Fm ry rq*r'"'{ 
", 

-c1qr'\ ')\r\-

T{Sfllq: T{df 
.|-f,qd 

: i^5:5

fiffi*'iileii if Ms.d r{t * s-ffr-@ q1 *.ss{ 3Tercn Ywt 6{*

sfuowrkredtttugaqqfqfuq: .'' 
Writ. the underlined words of the'following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer

from the options given below :

(m) qE+vtil EilTleF: ell,-{It, rr=sfrt

(D Td{
(ii) T5n{
(iiD {&T:

(s) qq+{n+qEftil*.d qrd q-3 |
--;
(i) qqqHr

(ii) q$nr+*

(iii) edTlnrfi' I

('r) lllqgoqFt-t-€TryuquRt

(i) qrqq+aE[

(ii) qrct+Tq

(iiD qlftt+zl1

(q) qF-{g g.R'T+d qrd'q, ffi t

( D r y
(ii) qr{dq

(iii) qqqrdtl

(e) aqRt+dt'frirnqfrt
(r) dqd

(ii) dqR

(iir) dqRfrl

95211 lP.T.O.



9.

ereifuffigfrm€errqrfrqqq|qiy{i' 3Fqt' 3ilqqG: KFr€Tfrqd : 1x5=5

F*,fufun q1-*ii i nffi {erri fr \ffi ftq qe sfdd qerit * srur qG gq''

tirfuq
" 
Fill in the blanks in the following sentences with approprlat

inOa.mtaUles given in the box below and rewrite the same :

(i) {:r- qbgqFsfr?

(ii) dtr --- q=ol

(iiD A{d qrtr*,iru{3rrrs{l

(iv)

(v) ei qelfrgq Q: {4: e+rrrFrqfr t

skiqqelwfudrqrflrfrTsd I

sFdd {@rrq 3-{*-{ arfl Wi frFqqt

Choose the correct numerical word and complete the sentences'

(i) €: -Tj ffi | (gfi" gfr-i' qd-Q

(ii) qa - 5w-{TfrqRr (ftru" ffi' xq')

(ii1) -d:fl-qt: {TflT ryl 
(g*wt:, g6Fg' qsqo

(iv) qTffi YfdR'i ltqd: t (d' e' arqr{)

(v) dlc['6T: fr|g'Rt (uarft' w[R:' ffl€t')

l x5 :5

e{?ifrffis Mg:dw{q rydq eTRr

fudr qgdwriqilsqfusd t "

*i ftR'rq qT-+it it Wr qq 3d{.d t r fl<qqq ffi g q gfut sfi g{n{

3T{qq< ef riqfrf}rd ql frfu( :

1 0

10. 1x6:6

52lr



Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences :

(+) drTtrAr=od:l
(i) r{Rf,r'

- (iii) ${q'q,

(s) ?.{-r'
(i)

i. (iii)

('T) erdq+qwiqrqfrr
(D snfl_{
(iii) Hq.

(q) *iwgndrq,1frqn'l
(i) rrftrerrfr
(iii) sTrrperq

(e) {t15r--Eer:l
(i) €q.
(iir) d

(q) dFR:

(i)

(iii)

(ii) 5{'fr
(iv) guwd' t

(ii) sr{idTq
(iv) srq.tdl

(ii) 
' 
-orq'

(iv) €: I

elEC' t
sr{-€E
3rKq

gaat{R?
qdtu
K{d'

(ii) srrr-@Fr
(iv) r[=31rt: I

(ii) gqrq
(iv) tt

(iD q{Fr
(iv) qffit

Eilrg: 
'u'(Section 

D)
qfud - q-€rsnq 1qf66 - sserr+ I

Reading Comprehension

11. qdftilfui T{i{i qBdr vc.rvr+rt{qaq &Kd :

Aqftfu .r{i{r o} qr*,,t ftq'rq vrit * vtr {q.d fr ftlfuq'

Read the following prose passage and answer the piven questions in
' 

Sanskrit :

30 3[$T:
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,..1t d-w -Trqt qqR qq'Ri qfr EF.r eq!:3l "3rrd! ft q-d'Ri s{Ki

qdti enqerrfl.t qqrTdlsfr?" qEqfr tdqft: €: ry Y:
q-d qflRi frt{ e6{urqs- : sils-q(r gffi qI 3trffi( - "3fti fuf,qr l'

"tq; 
rrFt' Qfi 1" {{ffi frqrd sr€T 3sq; fi6qq1q 1"

(t) qq.qeq g.Kd I

wqErigtrfufuq I
Answer in one word'

ft gEcqt Tflit: q{ufrq:?

(ID {uffiqsf,rd I '

rytereitstrfrfuqr 
'L

Answer in a comPlete sentence'

3trKioqFt:GF{

1ttl) ffi$q' sfddq3tri fudr frwi'

frqeJgg3fuostr3{s{frfuq'
Chooseandwritethecorrectanswerfromthegivenoptions:

(o).gm*134q6q'fiqrd.{r'g{qrqqdodq6qi
(D I{Tfi

(i1) dqtq

(iii) q&t

(s)'fii.' Eft {cw fr ffiqrq 3{:{ Ygffi{

(D 3ffi{

(i1) qrelt

(iiD sd' I

tz. errifrfui {aiffi qfddr yEtstqr{{iq'il{ Td{d

ffifud yfr{ 41 qa*.{ ftq'rqvsii t stt dq.d it frfuq :

Read the follow tng shloka and answer the given questions in sanskrit :

"3T[qR: sqm qf ' E-&-cqt+gqi {qt I z

(srq{&({<rqlt Hfrdsft ffiq6 1 1 1 "

lx2:2
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(D q$qa{ . fl{f, |

{iFqEilsmA&q I
Answer in one word.

HeFI: TC: s: ?

(rD qffiwrol I

Wtnqqitwfrfuqr
Answer in a complete sentence.

{KIEIR: 6r{: {SuII{: /
i '

(ttt) . ffirq, finqrflfu€Tfrqar I x2=2
ft-ne+iitt Bf,dd rf,{grm.{ ftfuer 

' .*
choose and write correct answer from the given options.

. (*) 'qd"Eftq(sfufr"qi

(i) $l=lR: (ii) TKI-IR:

(iii) ee'{: (iv) Fr: I

(s) {d}-}'frry1q' Efr v< sfr{ ers rg6q7
(i) 3TrqRrunq (ii) gkq-dr{

(iii) (iv) q$rqrq.l

3Tcfrfrfu qT€i{i qBdr ydils{Tr{1*qtr *rkr :

ffifud qT€i{T uP qqr fqq'rq $r+t + {iq.d il wr {Rq :
R.ead the following drama passage and answer the given questions in
Sanskrit:

"efrg;uu1,- qrpf! WI, q{q! qf,(frgqt trfl-€j frqg).T! ffifii ert{q
F{us,FcileT: sTfr: qko: y*nft | q-{q! 3r€ql iqqfr ga ftrru.j
lqffig{l

gr$'- Tq: t{Tq}! TqR 311qd5ilqt €R i urg,+,t sqqa trqT
qflrTTql etF{q 3T$ur{nqf,r{t r

(ao' xhrro: ansrr{A)
' l 
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ffi:- (qri sfr) tnrg rrqr{l o}sqq 3ffiel' ffi qtTqi *{rqr{l

qqdr{ Hd{F{t' vwsrT€rRTqr' 3il{.rqi ffi Sqt rrrHrE

**,:;' 'E1qffir 6Eqt s{qrd(-fi-€qr q*ot qst

WlrT' S6?l: ERT: lVWf{'q tTtgtl"

),, ..(I) \rd,Td{str{f, I

Gqqiis<t{Fdq I
Answer in one word'

Tffi'T' $'1T{TR?

(II) Trrq|ffimKr 
'

qtarmif str*Fqq r 
?b

Answer in a comPlete sentence'

{d,-t+qfrgqe?
(Ir) ffisq'skdqstftfudrFgdl

ffiqgsHdsn{gffi'{frfuqt
Chooseandwritethecorrbctanswerfromthegivenoptions.

(e) '66fr'qfrfurr€*,{w<frFq?

(1) qdqnT' (i1) sqrsr{€rRrqT'

(iii) fgr€{rfrr (iv) s€t6t: I

(s)'sqt' Efr .n{ 3ffi fr q< gmqi

(r) Ys{fr
( i i r ) f r$at

t 4 , e { ? i f u M t r s e r { H i q g f u d q t T F i f f i r q : F r f t T q d ' 1 x 2 : 2
ffifu6 oqft wr Ygfud rrrq ffi fr t gffi{ fttfuq :

Chooseandwritethecorrectgistofthefollowingserrtencesfromthe
given oPtions :

(o) 
'q'tf,'qq;cqs6{ qfig{qra' 1'

(D {tFr: Frrai qftrvfro'l 
"

(i1) {tFt: qCqr{3{Rl

itul 4i {lk qftrvfrs' rrqft t

lx2=2

(iD
(19

GFTt
cnse t

52lr
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(e) 'fril, qT+sdfraaq;'

(i) {r{ rrflr: T{trrr: q}t, I
(ii) v{W-qfiu: s{rFr: qRr

(iii) qd q+ yrFR, T{tr{T: rr}$, I

t. r{Yrd:qgfuiqefud,arffi3nqti{3kn: jx4=4

Tqnfr t q'gRa v<ga5q ftqfufud fiTdHt* enqqq.r wifitqq :
Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box : 

r

(m,) "*g" {qrnqr fr, {Rqr wrsi, | 
-

E'TEIT: dse fu, qF[€t.d: q{{q{qll':

. SFE|-€[:

q2 wqft' gD, fr qg*rrqufrqrr

_____(O___-_ Sqr, 341 qqgq $nE[.T<[: dr<rqr

(e) "sdw{g S'rtFr, qeT qqrft q{Tgl

s{,6q6apfu, sd' v**re|t"
StEt-r[:

rrd, qtlftr qi! , vd, q-{rFrqT{gl

vd, 6.61 wer*g, ud, ____(19_____ Tqg I
q-qqT

d{g, qw, v{e, q{t

, MonTsy{qtrvigrudt lx5:5
tqifrd qEt* 3rTerR q{ y*r ftEriur fiFqqr
Frame the questions on the basis of the underlined words :

(i) €: ,rri5dr em{s+ftFaqr{r r

(ii) re3[,s{wriwiwqftr

tr 15 [P.T.O.



(iii) W, il{r{i q YSfttFtT: I

(iv) smur{f,qhrs{MqrSgt"q'Rn3TRt

(v) i{€tEK{rqrqT' $rqRl

ti.' ereifuffi qrflrfr Tfir*qTS{R frqor

Frnfrfun ernT el qsr * sqrgrln frfuqt

Writethefollowingsentencesintheirsequentialorder.

(D w.Errrqaq:$ltFtrI eqfi Tdrga' rr+frt

(ii) oA e+itqfkq' erfrYffit '

(iii) r5ftr+rg, 3drf,qrv{ trksr 3ilTtq nffi r

(iv) q: qlEi 3rffiog-{-ffrfroerqfr t

(v) ud en-sn*i*iffit

(vi) i|(Tdr4.r-q' S'frd' rrqfrt

(vii) ilfr, qet t+qrq' rrqftt

(viir) qfk"ri {rq[ 
'6" 

Efr ft-drq' 3nffEl

18. \gTR'a.r<rqi yqsrdqKq ersl fudr frqa r I x 3:3

t€ifud {qt + YriqEqT{ enel ga51frfuqr

choose and write the contextual meanings of the underlined words'

(o) frfr, erEx(3{qr{5[l
(D ftt{w.m (ii) s+ro+ft

(iiD {ffi (1v) arqfrt

(q) gsqluTiq{k' grrR' qqqt6{' l

(i) {qq 
(ii) etrR

(iii) qrgdq ,(iv) 
\I+fqt

(rr) qr*'flI

(1) {qruaotrq: (s) grrfifis'

(iii) r+trqrt$wl' (iv) 5'ss: t

L/rx8:4

i .

t 652lr


